Summer Packet Geometry CP Name:

Due the 1* day of schoolllll

Please show all work on the space provided. Be sure to circle your answers.

Solve each equation.

1y 3y —bx= =15 ) x-T=-3=-12

3) ~2(-8h-2) =84 4) 147 =-5(1 + 5m) + 6m

5) —6(n —6) - 3n—4)=21 6) =7 +r—T+5r=8—75r

7y 3-3p=-Tp+7 8) 38+ 8r=-8(6 - 67) + 3r

9) —8x~7x+5) = ~dx 35 10) 3(~5x—5)+x=3-2(x+3)



Solve each proportion.

1la=11 14 5b-5 11
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Sketch the eraph of each line.
13) y=-x+2 14) yv=x
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Evaluate each expression for the indicated variables.

h . 3
17) L{h+iz)~ g wselr=-3, andk=6 18) (%) ~{e~b)rusea=3,b=-1,andc=6

o



19) Jj-4+h-|jlsuseh=1,and j=6

20) {y + 3:}2 +x+xusex=—4,and y=-1
Find the siope of the line.
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Solve each system by graphing,
=3 |
24) Y= 23’ 25) y=x—-3
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Solve each system by elimination.

26) ~3x-9y=-9
10x + 18y =14

Solve each system by sﬁbsﬁtuﬁﬁn.

28) bx—dy=2
y=-2x+10

27)

29)

~8x+ Ty =24
~GxA4 Gy= 12

x—2y=11



